Select Language v

Powered by Gocgle Translate

Headache Rack Kit

P/N 2889538

Missing or Damaged Parts

Before beginning assembly, inspect the kit and its component(s) to be sure all
parts and tools are accounted for and not damaged. If missing parts or parts
are damaged, please contact your Selling Dealer for assistance.

Application

Verify accessory fitment at www.polaris.com.

Kit Contents

L ALz

DYl alre M\ al7 27

r—

If your accessory was purchased online, please contact POLARIS® customer
service at 1-800-POLARIS (US & Canada only).

——

Ref | Qty | Part Description P/N Available Available Service
Separately Kit

1 1 Headache Rack, Fixed n/a n/a

2 2 Hinge Plate 5256140 n/a

3 2 ROPS Clamp, Left n/a 2211901

4 2 ROPS Clamp, Right n/a 2211901

5 2 Screw, Torx®, (M8 x 1.25 x 35 mm) n/a 2211901



https://translate.google.com/
https://translate.google.com/
https://www.polaris.com/en-us/

Ref | Qty | Part Description P/N Available Available Service
Separately Kit

6 4 Screw, Hex, Flange, (M8 x 1.25 x 25 mm) 7521332-25 n/a

7 4 Screw, Hex, Flange, (M8 x 1.25 x 70 mm) 7521332-70 n/a

8 4 Washer, (8.4 x 20.0 x 1.6 mm) 7556969 n/a

9 2 Steel Spacer n/a n/a

Tools Required
e Safety Glasses
* Socket Set, Metric
* Socket Set, Torx® Bit

e Torque Wrench

Important

Your Headache Rack Kit is exclusively designed for your vehicle. Please read the installation instructions thoroughly before beginning. Installation is easier if the

vehicle is clean and free of debris. For your safety, and to ensure a satisfactory installation, perform all installation steps correctly in the sequence shown.

Installation Instructions

Vehicle Preparation

General

1. Park vehicle on a flat surface.

2. Shift vehicle into PARK.

3. Turn key to OFF position and remove key.
Accessory Installation

( |

L Polaris recommends two people for headache rack installation. J

Headache Rack Prep
1. Loosely install left ROPS clamp @to headache rack using two screws @

( N
DO NOT torque fasteners at this time.

. J

4 N\

Right side shown; left side similar.




Installation Without Doors

1. Put headache rack@ in position on vehicle.

__-_____ﬂ—-‘.'_:_f__

2. Put steel spacer@ between headache rack mount and mounting bracket on ROPS.

[ NOTICE ]

L Headache rack may be hidden for clarity. J




Install hi te@on inside face of hinge bracke

3. Install hinge pla

)
/]
: |
\| N
l’) - L
W
t. Hold hinge plate in place.



’

“/

‘," Y

4. Make sure @ is on inside of hinge plate and @ is between hinge plate and headache rack.

~_ " [|I 1

2,

5. Loosely attach headache rack using two washersand two screws @ Install screws into hinge plate @(not shown).

f NOTICE

L Right side shown; left side similar.

{ DO NOT torque fasteners at this time.




6. Install right ROPS clamp (4).

\@\‘Q

E

7. Loosely attach right ROPS cIamp@ using screw @

{ DO NOT torque fasteners at this time. }




e

8. Torque two ROPS clamp screws @ to specification.

e N

TORQUE
Screws @:

16 ft-lbs (22 N-m)

N J

9. Torque four screws @and four screws @ to specification.

e N

TORQUE
Screws@@:

16 ft-lbs (22 N-m)
N\ /
Installation With Doors

1. Disconnect rubber limiter strap from door. Disconnect any electrical connectors between door and vehicle.

2. Remove and keep nut from lower door hinge.

[ NOTICE ]

L Only MY24 and newer vehicles will have threaded lower door hinge. J




3. 0pen door. Lift door off upper and lower hinges.




4. Remove and discard two screws. Remove and keep door hinge pin.



5. Put headache rack@ in position on vehicle.

- -

6. Install hinge plate @ on inside face of hinge bracket. Hold hinge plate in place.



7. Install door hinge pin between headache rack@and mounting plate on ROPS.
] {
)Q = |

N

——

1

8. Loosely install two washers (8) and two screws @

{ DO NOT torque fasteners at this time. }




9. Install right ROPS clamp (4).

. b
.,
I—

E

.-/-

10. Loosely attach right ROPS cIamp@ using screw @

{ DO NOT torque fasteners at this time. }




11. Install door on hinge pins.

12. Install nut on lower door hinge. Make sure nut is snug and door opens and closes freely.

f NOTICE

L Only MY24 and newer vehicles will have threaded lower door hinge.




J—L _3

\
KJj :
\

N\ .

13. Close door. Check door fitment. Adjust fitment with door opening and striker if necessary.

; i _ i@r" %\

14. Connect rubber limiter strap from door. Connect any electrical connectors between door and vehicle.

15. Torque two ROPS clamp screws @ to specification.

s

Screws @:




L 16 ft-lbs (22 N-m)

16. Torque four screws@ and four screws @ to specification.

-

Screws@@:

16 ft-Ibs (22 N-m)

Site Map
Privacy Policy

Accessibility
© 2025 Polaris Inc.



https://www.polaris.com/en-us/site-map/
https://www.polaris.com/en-us/privacy/
https://www.polaris.com/en-us/ada/

